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17U/116/20(Set-1)
No. of Questions : 200
wel &t Hear : 200
Time :25 Hours ] - [ Full Marks : 600
Wi : 21 que] [ quIfg: 600

Note: (i} Attempt as many questions as you can. Each question carries 3 (Three)
marks. One mark will be deducted for each incorvect answer. Zero mark
will be awarded for each unattempted question.

aﬂmﬁmmﬁﬁaﬁ#mmaﬂﬁmlmmsmmﬁm%l
?ﬂr&wa‘ﬁv?ﬁm.mm:mmﬁammm
J

(i) 1f more than one alternative answers seem to be approximate to the
carrect answer, choose the closest one, |

T voie dofes SR @@ v @ P wda 8 @ Peea w8 s §)
() This paper comprises of foir Sections : Mental Ability and General

Awareness, Chemistry, Physics and Biology (Botany and Zoology). Each
Section contains 50 questions. J =

W TR A AR ave ¥ i
R ST i e o (e g% o o) o s o e By
SECTION - | |
| s -
(MENTAL ABILITY AND GENERAL AWARENESS)
(FeRve Ao < W o)

1. Find out the average marks scored by 3 students together, if in an examination

Saumya scored 40% marks, Raju Scored B0% marke-and Riya scored 624 marks
and the maximum marks are 800 :

Sﬁaﬁﬁmmﬁsﬁwﬂm_ﬂaﬁmﬂq@wuﬁm#mﬂg%w
mm,ﬂﬁsoﬂammﬁmﬂrszmmmﬁﬁw}ammmmgmg:

(1) 500 (2) 528 (3) 623 (4) 510

(1
) P.T.0.
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17U/116/20(Set-1)

2. If a train of 200 m long running at 60 kIl:l{' hr then how many seconds will it

take to cross another train of 300 m long running in opposite direction at a
speed of 90 km/hr ?

(1) 8sec. (2) 14 sec. (3) 9 sec. (4) 12 sec.
U@ XeTE! @1 200 Mo @ § o 60 Rflo/He A wAR W st B @ TR
T A 300 Mo ot ¥ o fRwd fww & 90 ffo/ae A R | A B, B

IR Y

(1) 8% (2) 14 %0 3) 9% (4) 12¥0
J. 1C chips in Computer are made of :

(1) Lead (2) Silicon (3) Chromium  {4) Gold

Fee] J yyget B gt 1C v e &0 B € 7

(1) G (2) FfdaTa (3) wvagn (4) =
4. Which of the following is not a language of Computer Programming ?

(1) WINDOWS  (2) PASCAL {3) BASIC (4) COBOL

e § Q -8 seger wfdm @) FEF e 7

(1) e (2) urEpe (3) 4% (4) DA
5. The planet which is closest to the earth is:

(1) Mercury (2) Mars (3) Neptune (4) Venus

98 UE 9 Jel @ waw TodE ®, T

(1) 3= (2) A (3) = (4) T»

6. If NOQXG means LOVE, then ECMG means :
afé NQXG &1 ¥f LOVE &, @1 ECMG &1 el B

(1) CALF . (2) GOOD (3) CAKE (4) CALM
7. Find the odd one from the following :

frey 4 § &% BT T FRY

(1) 16 2) 80 (3) o4 (4) 36

8. From which date Goods and Services Tax (GST) has been implemented in

India ? |
(1) 1 April, 2017 (2) 1May, 2017  (3) 1]June, 2017  (4) 1]uly, 2017
mﬁﬁﬁﬁﬂfaﬁﬂm@w (fogwodio) d T T ?

(1) 190, 201?' (2) 1%, 2017 (3) 1% 2017 (&) 198, 2017
(2}
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10.

1L

12.

13.

17U/116/20(Set-1)

In India, Shri Ram Nath Kovind has been elected as :

(1) 12th President (2) 13th President (3) 14th President (4) 15th President
A ¥, S Y PR @ G T e

(1) 1291 wsgafy (2) 13ai wgufar (3) 149 wgwR (4) 1541 gl

The Union Budget 2017-18 was presented in Parliament of India by :

(1) Shri Arun Jaitley (2) Shri P. Chidambaram
(3) Shri Manmohan Singh {4) Shri Nazendra Modi
Mﬂmmw—lsf&ﬂ%mwﬁtﬁamﬁ&ﬂﬁmw?

(1) # sreor Aot (2) # dro Rigmam

(3) A weT Riz 4) A wg A

In a class of 60 students, the number of girls is twice that of boys. Kamal, a boy,

ranked seventeenth from the top. If there are 9 girls ahead of Kamal, the
number of boys in rank after himis:

mﬁﬁmmﬁ,mﬁﬁwmﬁgﬁhw,mwm&ﬁ
W e WA W ) AR el o @ R & o zw B9 # 9wd W
TED! I wE 2

a) 3 @) 7 (3) 12 (4) 13

A class starts at 11 : 00 am and lasts ill 2.27 pm. Pour periods of equal duration

are held during this interval. After every period, a rest of 5 minutes is g
’ ven to
the students. Thus, the exact duration of each period is : ¥

(1) 48 minutes (2) 50 minutes (3) 51 minutes (4) 53 minutes
wmf&aﬁll:maﬂﬁmaﬁzwwﬁwmmmmm
ﬁﬂﬁﬂ&iﬁ%ﬂﬂﬂﬂﬂéﬁﬂﬂmw&aﬁmmﬁaﬁsﬁﬁtmﬁm
fFm o 3| 39 TER, A0S g B U o &

M) 6Pre @ s0fFe ) 5P (@) 53 frre

1 3rd December, 1990 is Sunday, what day is 3rd January, 1991 ?

(1) Tuesday (2) Wednesday - (3) Thursday (&) ® riday
gt 3 fawmr, 1990 ¥R 8, 1 3 9wedt, 19901 wsa R 8 2

(1) FreR 2) o (3) TR (& gwar

”
(3) PTO.
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17U/116/20(Set-1)

14.  Pointing to an old man Sohan said, "His son is my son's uncle”. How is the old
man related to Sohan ?

(1) Father (2) Grandfather
(3) Brother (4) None of these

TH @ A B YR g BT gY TR TR R T dsel W ded @ g
g1 g% 927 Al WEe ¥ 59 vew e g 7

(1) far (2) <=

(3) wg 4) 3 | %5 N 7@
15.  World Population Day is cbserved on :

(1) June5 (2) July 11 (3) October 4 (4) December 10

fava Wi fRaw vy o g -

(1) 5@ @ wEE11® (3) WegEed 3 (4) RE=R10 @
16. The largest Indian State by area is :

(1) Madhya Pradesh (2) Maharashtra

(3) Uttar Pradesh (4) Rajasthan

T S G{ar AT BT FIY T8 T9 B

(1) 7em 9 (2) HERTS:

(3) SR R (4) TR

17. NNPisequalto:

(1) GNP + Depreciation (2) GNP - Depreciation
(3) GNP + Exports (4) GNP - Exports

A g Y TR B E

(1) of 7 D= EH (2) & @ ® -7

(3) & T & + Ffd (4) o = A - fraia

18. Industrial Revolution started in Eng]aqcl in;
(1) 16th century (2) 18th century (3) 17thcentury  (4) 19th century

) 165 WA () 188 s O 178 Tl F  (4) 198 e A

(4)
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241

17U/116/20(Set-1)

The highest literate state of India s :

(1) Mizoram (2) Goa (3) Tripura (4) Kerala
ARG @1 waite il sy

(1 s . (@) (3) fga (4) I
How many states are there in India ?

Ard ¥ R wog # 7

(1) 29 (2) 27 {(3) 28 4) 25
What should come next in the following letter sequence ? .

P 2ot & &9 o s @ @ ?

AABABCABCDABCDEABCD

Q) A ; (2) E ' 3) € (4) B

‘Which word will come in the middle if all of following are arranged

alphabetically as in the english dictionary 7

uﬁ#ﬁﬁﬁwmaﬁaﬁ%wﬁmmmﬁmﬂmﬂm&mm
T FI9-97 9eg weg ¥ amdpr ?

Donkey, Donator, Donjon, Donate, Donative

(1) Donkey (2) Donator (3) Donjon (4) Donative
Today is Monday, after 61 daysitwillbe: .

(1) Tue_sday (2) Monday (3} Sunday (4) Saturday
aﬁmm&a‘relﬁa‘iﬁmammfiﬁm? '
(1) Hrerar (2) WHER (3) ¥R (4) wfar

The average of five consecutive odd numbers.i . Whabhs Biacut h
between the highest and lowest numbers ? ifference

e e fws et g siva 61 2 @ v e wg 9
&1 =R = F 71 B ? Eﬁ""“ e 9T 7 e

(1) 6 2) 4 3 16 @ 8
i}l:tfdstztsDte?r. CisB s' mother. D is C's father. E is D's mother. Then ho i
(1) Grandfather | (2) Grandmother
(3) Daughter * | (4) Granddauglte,
(5)
PTo.
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17U/116/20(Set-1)

ABR a2 CBAAET D Ca a2 E D3 A 8| 7 gl § A &
DR &4 &= & 7

(1) amam & (2) T B 3) e (4) =T 2
26. 34isrelated to 12 in the same way as 59 is related to :

(1) 45 @338 (3) 26 4) 14

34 &7 T 129 S8 R U ¥ SR fF 59 & Wy ¥

(1) 454 (2) 389 (3) 269 (4) 149

97. Which of the following is most energy-efficient source of light 7
(1) Tubelight  (2) CFL (3) LED () Tungsten Bulb
fer 3 @Y T @ R Su-pRgTd 6 7 |
(1) <7 «Ee (2) o Twe Yo (3) Teo oo (4 THRCT TH
28. A girl facing north rotates 100 degree clockwise then 190 degree anticlockwise.

What is new direction of the girl ?

(1) North-East (2) West
(3} South-West (4) South

qmagzﬁtmﬁzG?ﬂmnaﬁammaﬂa@aﬁgé?hﬁﬂﬂwomwﬁl
maﬁu@rﬁﬁéﬁﬁﬁmaﬁmmmwmmmmﬁz%ﬂ

Rt ? |
(1) STR-gd 1 IR (2) uf¥mw @ IR
(3) foofiEm @ AR (4) 3o A AR

29, In the following chart given characters follow a certain trend, row-wise or
: column-wise. Find out the missing character (?) accordingly

%ﬁﬁnﬁﬂlﬁﬁﬂﬁﬁmﬁmﬁMﬂﬁwﬂﬁwﬁﬁﬁam%wﬁ
ma%@wmwmﬁﬂawmm?

‘r A D H H
s PR T .
9 J N - b R .
L. ,,Iz'—#”""—(g) N 3) O (4) P
()
(6)
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17U/116/20(Set-1)

30. The difference between cow's milk and buffalo milk is that :
(1) Milk of cow is white but buffalo milk in yellowish in colour.
(2) Milk of cow is yellowish but bullalo milk is white in colour.
(3) Milk of cow is yellowish in colour but it contain more fat than bufffalo milk.

(4) Milk of cow is white in colour but it contain low amount of fat than buffalo

T @ AR A B g § Ry Pl 2
(1) T & 3@ 1 1 woT v AW B g5 o1 1 D e B B
(2) T w1 gy fene fay g & sl A9 @1 qu gBe O F O 2|

B);ﬂﬂmwmﬁmﬂm%m%mﬁmmwﬂﬂahwémmm
i :

(4) T BT 38 HOT I BT g & an g Tw o A N9 D qu @ aw Bl 2

31. Which of the following crop is not utilized for commercial producfion of edible

oil ?
(1) Wheat (2) Rice  (3) Sunflower - (4) Maize
ﬁﬁ#ﬁ#ﬁﬂmmmﬁﬂmﬂaﬁwﬁm@ﬁaﬁm%?
m xR (2) & G) O (4) W
32, Find out value of 7 in following :
=1 3 ? %1 5 7 g ?
12:30::14:7 .
(1) 30 (2) 28 3 3 4) @

3. Which one will replace the question mark (?) ?
fr ¥ um B ()3 WM W @y @y ?

[ ]
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17U/116/20(Set-1)

34.

33.

36.

37.

38.

Which among the following SAARC nations did not figure in the "World
Happiness Report 2017 7

(1) Pakistan (2) Bhutan (3) Afghanistan (4} Maldives
T 29§ s § Fr|r 29 Cdee fEsy RO - 2017 4 #I ® 7
(1) ol (2) ™ (3) SHMETRT (4) WA

Who is the author of the book "Winning Like Virat : Think and Succeed like
Kohii"?

(1) Uday Mahurkar © (2) Abhirup Bhattacharya

(3) Rajesh Jain (4) Arvind Adiga ‘
yws fafr argd favie - RE T TFES TP el @ oEd B 6 7
(1) STa HgER (2) sforeg WgTdral

(3) A9 SiE (4) axfig sfam

At which of the following place union cabinet of India has approved Lo
establish a centre of International Rice Research Institute ?

(1) NOIDA (2) Kanpur (3) Varanasi (4) Pantnagar
v B wd Aowed 3 fre R e TR 9 o = (IRRI)

3 a & W T B W A2 |
(1) a"{JETI (2) HER {3} dRTORAY (4) TR

Which country will host next Champions T rophy in 2021 ? |
(1) SriLanka (2) Australia (3) Bangladesh (4). Indja
o021 3 @ ard AT O - 2021 B AT ¥ Qg dw W @
(1) #eraT (2) weefern (3) #iHES (4) w3

“J

: ‘ - Blood Bank for Cattie ?
4 is the first state in the country toopen a
i oy (2) Kerala

() 83?%113 (4) Andhra Pradesh

gl;. 3 ﬁamm vory & forem gyl & form m@-ﬁ? B RATT @ ?

P Q) B

(1) ™ @) o w3

(3) I

: Sis
39. Cause U::; ’ (2) Fungi (3) Virus (4) Amoeba

(1) Bac .
agd @ FLE @) (3) aueE (4) v
(1) ?‘.&a&m (B8)

gcollegeduniaa
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17U/116/20(Set-1)

40. To make curd which microorganism is used ?
(1) Acctobacter  (2) Leukonostoc (3) Bacillus (4) Lactobaciilus

<8 wHA A Prafeafea § & Rew gl &1 wgnr fear @ & 2
(1) tREeaws (2) FoEEE  (3) af4es (4) dee)afyes

41.  From the following which makes milk sour ?

(1) Protozoa (2) Bacteria (3) Virus (4) Nematod

frefefaa % @ fva gre o Wgl BT & 7

(1) s (2) dFdf (3) arava (4) fiers
42. Gobar Gas mainly consist of :

(1) Methane 1 (2) Ethelene

(3) Acetelene (4) Carbon Monoxide

MR 19 ¥ e B 2

(1) foks | (2) sfref

(3) Vefeed (4) FEF I S

+ By which constitutional Amendment Act Fundament ' :
: al Duti
in constitution ? Uhes are incorporated

(1) 42nd Constitutional Amendment Act, 1976

(2) 43rd Constitutional Amendment Act, 1977

(3) 44th Constitutional Amendment Act, 1978

(4) 45th Constitutional Amendment Act, 1980
ﬁmﬁmﬁmwmgmmﬁwmmm_mwg?
(1) 42d7 Hawifra e s, 1976

(2) 4341 W W SRFATL 1977

(3) 44d wuife waes sRfTE, 1973

(@) 454t wdenfre wem oo 1080 e

(9)
PT.0.
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17U/116/20(Set-1)

44,

45.

47.

48.

When joint meeting of Lok Sabha and Rajya Sabha are being held ?
(1) When President calls

(2) When there is opinion difference in Lok Sabha & Rajya Sabha
{3) When Parliament Session begins

(4) None of these

FrBear g ST B GYF 0T Fa Gl 8 7

(1) wgufa S g

(2) Srmwen e women ¥ TARE 81 W

(3) GHE &I 9 ¥ B W

@ ¥ X wg 76

Presidential election is controlled by : N

(1) Lok Sabha Speaker (2) Prime Minster , |
(3) Election Commission (4) Minister of Parliamentary Affairs
oY Wg &1 gera wafer fan o 8 |

(1) Aeaead gl (2) ST ER

(3) fafem smim w1 | (4) wEd wwe @ FA g
"Entrance of Asia" is : |

(1) Saudi Arab  (2) Taiwan (3) Turkey (4) Japan
'ofRrgr @1 Ga9 gR' HEATE §

(1) ¥HQ R4 (2) aTga™ (3} B (4) I
Which country is known as the ‘Land of white elephants’ ?

(1) Laos (2) Thailand (3) Kenya (4) Myanmar
Bt oy ) T R A A @ T R S 2

(1) AR (2) AN (3) P (4) WIT=IR

In Computer Language. how many bytes are in one megabyte 2

a1 00,000 2) 10.00,000 (3) 10,24,000 (4) 10,48576
; 7
: e is not correctly match ?
49, Which 9“ 'ng-wf-'ﬁt Bengsl (2) Mount Abu - Rajasthan
U) Eaﬁkamlﬂ'rml N adu (4) CShimla-Ulttar Pradesh
(3) ko -

(10)
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17U/116/20(Set-1)

P § & s e w78 & 2

(1) <ftferm - 9o qma (2) H¥vE &MY — ISR
(3) dIeEFaTE ~ AT (4) Rrer - SR wRdw
Which country is known as "India of Europe” ? |
(1) Spain (2) France (3) Ttaly (4) Portugal
Y B ARG B TH W P 3G AT ST S
(1) & (2) wiw - (3) (4) T
SECTION - II
wvg - I
(CHEMISTRY)
\GILERCERY

No. of electrons in 1.8 ml of water is :
WA B 1.8 el f et Y W & .
(1) 6.02x 10% (2) 3.01 x 10% (3) 0.6023x 10° (4) 60.22 x 107

The volume strength of 1.5 N h};drogen peroxide solution is :
L5 N STERIoH RReffergs fems 1 dfeqs w2 &
(1) 4.8 (2) 84 3) 3.0 4) 8.0

The values of Vander Waals constant ‘a' for the gases O,, N,, NH, and CH, are
1.36, 1.39, 4.17 and 2.25 L. atm. mole™! respectively. The gas which can most
easily be liquified is :

# Oy, N,, NH, sl CH, T v arer feris waw: 1.36, 1.39, 4.17 3R 2.25 L.
atm. mole™ 8 | F99 ST A AP B T g ¥

(1 o, (2 N, (3) NH, 4) CH,

When CaCO, is heated at a constant temperature in a éfoéeﬂ container, th
pressure due to CO, produced will : o

(1) Change with the amount of CaCQ, taken

(2) Change with the size of the<gntainer
(3) Remain constant as Long s temperature is constant

(4) Remain constant everiftperatre is changed

(11)
PTo.
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17U/116/20(Set-1)

ue d¢ qrE ¥ Rer 9w we CaCO, & T fFr oar 8 CO, 947 & HRU
S Lld

(1) CaCO, & oft 7€ A A uRec & <&@ |

(2) T3 @ YR A qRadq | ggam

(3) Rew v8m W do o Rew 2|

(4) RoR W ue & g aRafdd 8

55. E® (reduction) values of the half cells Mg?' | Mg and Cl,|CI" are respectively
-2.36 'V and 1.36 V. The E° value of the cell Mg ! Mg™" | {Cl,1CI"is -
s ¥ Mg? IMg @ C1, |CI" %1 E° (3uwg+) 717 F997 -2.36 V 741 1.36 V 2
& Mg| Mg | |Cl, QI %1 E° AF &
(1) 372V (2) 1V (3) 018V (4) 264V

56. Among the following, the paramagnetic is :
frfefaa 5 @ R & 2

(1) Na,O, (2) O, (3) N,O (4) KO,

57. When I”is oxidized by MnO,” in alkaline medium, I” converts into :

(1) 10, 2) 1, (3) 10, @) 107
o e weE A MnO,” 1 1 s e 8, af [ aeer €
(1) 10, 4 2 1, # (3) 10, * (4) 10" ¥

58. Which of the following process is used in extractive metallurgy of Mg ?

(1) Fused salt electrolysis

(2) Self reduction

(3) Aqueous sojution electrolysis
(4) Thermite reduction

Mgmqﬁaﬁeaﬁmvﬁ#ﬁwmﬁah-ﬁuﬁwmﬁﬁé?
(1) W@Wﬁ@%ﬁm

(2} e Y=
(3) e ERERIRINS

@) o ide P A

(12)
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Types of bonds present in CuSQ,. 5H,0 are only :

(1) electrovalent and covalent

(2) electrovalent and coordinate covalent

(3) electrovalent, covalent and coordinate covalent
(4) covalent and coordinate covalent

CuS0O,. 5H,0 # dfvg & yor Iufem & dqe -
(1) g v aiere

(2) TR T4 FRiifEe Friere

(3) T ReE, BiEre auT BRI TeT
(4) FierT T4 S st

Isomers which can be interconverted through rotation around a single bond
e

- (1) conformers (2} diastrecisomers
(3) enantiomers (4) positional isomers
SRR A Twer-aivs B T AR P W oferuRafia B & @ Fwd £ -
(1) SR () TR
(3) TR (4) OrfrerTe smgw
The Cannizzaro's reaction is not given by :

(1} trimethyl acetaldehyde (2) acetaldehyde

(3) benzaldehyde . (4) 'furinaldéhyde

BfAarR) TR 7€ & 8

(1) sl Ricferss (2) TRiciserss

(3) dufcerrgs (4) wrifceage

Benzamide on treaterfiént with POCI, gives :A_\

(1) aniline (2) benzonitrile

(3) chlorobenzene v (4) benzylamine

orTES POCL, & ¥y 0l 8

(1) T - (2) SRS

(3) FARAAR ORIEL Y
(13) |

RTto
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17U/116/20(Set-1)

83. Which of the following pairs give positive Tollen’s test ?
(1) glucose, sucrose (2) glucose, fructose
(3} hexanal, acetophenone _ (4) fructose, sucrose
Prafefea 4 @ gm g Sfam o ST 7
(1) @M, o (2) TP, B
(3) BTTe, CRISIBINT (4) wacHE, gh
84. Which of the following compounds reacts with ammonical solution of AgNO, ?
(1} 2-Butyne (2) 1-Butyne (3) Ethene (4) Ethane
Prfaiaa ! 4 /@ 81 AgNO, B amifFama el 3w wfafde v & °
(1) 2-ered (2) 1-eTE (3) vl (4) T
65. The cyclic polymerization of acetylene produces:
(1} Benzene (2) Cyclohexane
(3) Toluene (4) 1,3, 5-trimethylbenzene
Rl @1 i qgADIERY ol B ¢
(1) st (2) ETFTEAER
(3) <rqe (4) 1,3, 5-grsMremgeasi
86. Which of the following molecules has all the three sp, sp® and sp” carbon
atoms ?
S # & R o & T 6 sp, sp? AN sp? a2
(1) C*'13=CH‘CH=CH2 (2) CHyCH=CH-CH,
(3) CH,-CH=CH-C=CH (4) CH,CH,CH,CH,
87. Acelylenes produced by carrying out electrolysis of potassium salt of :
(1) Acetate (2) Succinate (3) Fumarate {(4) Oxalate
WWWW*WW#WMW?:
(2) wfeT (3) TPRE (4) sifede
(1) e
h dration of propyne in the presence of HgSO, /H,S0, produces.
gg. Thely

jﬁzso*aﬁqqﬁqﬁﬁmﬁﬁﬁm?:

& HgV
FIBIER " (@ CHcH,cHO (3) CHCOCH,  (4) HCHO

(14)
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69. Geometrical isomerism is shown by :

(1) Alkanes (2) Alkenes

(3) Alkynes (4) Aromatic hydrocarbons
STy weTeTEan Rarar sy -

(1) T w1 (2) TR gRT

(3) TR gm 4) TARE ErEgrTE T

70.  The ozonolysis of 2, 3-dimethylpent-2-ene produces :
(1) Two molecules of aldehydes
(2) Two molecules of ketones
(3) One molecule of aldeh yde and one molecule of ketone
(4) Neither aldehyde nor ketone
2, 3-srafhamgaive-2-g9 w1 aoiERYr o &
(1) vieswsgs & < o
(2) B & ?q F
(3) TieSEES &1 (& 1) I HEF BT v& 3y

(4) = o viesEEs ok 7 & Fem -

71.  The IUPAC name of the compound HSC—-é—C H=CH, is:
|

CH,
(1) 3,3, STTﬁmeﬂxylpmpane (2) 1,1, 1-Trimethylprop-2-ene
(3) 3, 3-dimethylbut-1-ene (4) 2, 2-dimethylbut-3-ene
CH,
|
H:{li."—(ll‘—l'.]I-le.(.‘I-I2 @1 IUPAC 7 2 :
CH,
(1) 3,3, 3-zfrRmgeuny ) 1,1, 1-grefrrgemy..z
3) 3 -S-W-I-EW (@) 2,2-sPergererea o
72.  Which of the follumng compounds exhibits (BT teomerigm 2
(1) 2-Butene (2) 2-3Ut)'“e (3) 2-Butano]

[ ]
gcollegedumaa
India’s largest Student Review Platform

el



17U116/20(Set-1)

73. Ethane is produced during the electrolysis of potassium salt of :

(1) Sucanic acid (2) Malonic acid
(3} Acetic acid (4) Fumaric acid
7 fea o waw @ Mgy ameed @ ST & @ | 7
(1) e o (2) et e
(3) THEE ana (4) TS 31w
74, BunaSisa:
- (1) Monomer (2) Trimer (3} Co-polymer  (4) Dimer
Buna-S & T& -
(1) THeid (2) R (3) VEIETD (4) SHEW
73.  Which of the following is a Natural polymer ?
(1} Bakelite (2) Nylon (3) Proteins (4) PVC
fre 3 Q@ o 1o Tafod agae © 7
(1) dmanse (2) e (3) Wér (4) @ @ A
76. Which of the following is an example of thermoset polymer ?
(1) Rubber 2) Nylon-66 (3) PVC (4) Bakelite
fr= & @ BH-1 oI qgas @1 TH IIERDT R 7
(1) ¥ax (2} Fu-66 (3) GERM (4) dHerse
77. Nitration of nitrobenzene gives :
(1) 1,2-dinitrobenzene (2} 1, 3-dinitrobenzene
(3} 1, 4-dinitrobenzene (4) 1,2, 3-trinitrobenzene
gETIRE BT GBI R |
(1) 1, 2-GIg Mg 2) 1, 3-STEAIRINSII
S 8) 1,2, 3-CT§TEg e
(3) 1,4-3':5?[5?‘7‘\5—‘11“ (
: : i false about benzaldehyde ?
78. Whichof the frliawing SiateaICnlLs e
| URY reduces Tollen's reagent
7 It undergoes _C?nmzzar;} reacl_mn
de fg(‘)tis A dol conéensation
(3) lun - bisuiphite adduct
(ay Tforms SOHT!
(16)
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TlesETss ¥ Wtk wi=-w Reffae o s &
(1) 8 e T ads B aalig evar @

(2) 77 oy sifdfrar <o #

(3) T8 qoeTdl WOHA T 8

(4) @& Wf¥Tn dgwwRe (ST T ¢

Following reaction is known as CH,COCH, s CyHg + 1,0.

conc. HCI
(1) Rosenmund's reaction (2) Clemmensen reduction
(3} Wurtz reaction {(4) Kolbe's reaction
Frerferre sffdn @ &1 ST & CH,COCH, 2118, c 1.+ 0.
conc JiCI
(1) IV # affrar (2) TS aTET
(3) 3 Al (4) oV B I

The correct order of stability of the given radicals is :
(1} tertiary > secondary > primary (2) tertiary > secondary < primary

(3) tertiary < secondary > primary (4) tertiary < secondary < primary
AR ges e elamra@ woag: .

(1) Joas > meafas > wefits (2) TS > Il < yrifre

(3) g < wreafyes > grafie (4) Tehryw < wrafma < gafie

The most strained cycloalkane is :
(1) cyclopropane (2) cyclobutane (3} cyclopentane  (4) cyclohexane

LSCR ﬁﬂﬁ’{*"l TgdAITeRT 8 :
(1) FgTesta (2) ¥R (3) dEEdNRe (4) TZTERERH

The IUPAC name of the compotmd HCsC-CH,CH=CH, is :

(1) l-penten-4-yne (2) 1-pentyn-d-ene

(3) Allylacetvlene (4) 1-pentene-3-yne

HC=C CH,CH=CH, & ITUPAC ™ & :

(1) 1-9r7-4-amds (2) 1-9TET-4-§q

(3) TR (4) 1-¥<¥m.55my
(17)
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83. Optical rotation of a racemic mixture is :
(1) Positive (2) Negative
(3) Zero (4) Temperature dependent
& RS Bsror a7 sifftera dew §
(1) FeERTHS (2) FPRIHNT
(3) I3 (4) amRa fak
84. The compound having one isopropy! group is:
(1) 2,2, 3, 3-tetramethylpentane (2) 2,2-dimethylpentane
(3) 2,2, 3 trimethylpentane _ (4) 2-methylpentane
v AEENe W € ol S 5
(1) 2,2, 3,3-egifRengaues (2) 2, 2-SrgRegaIcT
(3) 2,2, 3-grgMAengeued (4) 2-fremgEties
85. The monomer of natural rubber is :
(1) Chloroprene (2) Isoprene
(3) Butadiene (4) Acrylonitrile
MEH D K¢ Dl YHAD B
(1) TR (2) SmEEM
(3) LTS (4) THIgATAELIET
86. Which of the following polymers has ester linkages ? ,
(1) Nylon (2) Bakelite (3) Terylene (4) PVC
Prefafea § & fF TRe® ¥ o] AT Wl I e 7
(1) Hef™ (2) dPaTsC (3) 0fe (4) CrEr
87. Which of the following polymers has amide linkages ?
(1) Nylon (2) Teflon {3) Terylene (4) Polyurethane
Rrffre 4 & B TgT § GHIES WANH SR W 2
(1) TR (2) Twef= (3) &ofem (&) didmRea
g8, The process of vulcanization makes rubber :

(2) Hard

. -
(1) Soluble ¥ (4) Less elashic

(3) Soft
(18)
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TebHIBRY YETT TR B @R §
(1) 91 & gamsier (2) &=
(3) Foman (4) &9 ArE=R

The number of 5-5 bonds in sulphur trioxide trimer (S,0,) is :
Hohy LTesieargs R (S,0,) # 56 9ivs &t v #

(1) 3 (2) 1 (3) 2 (4) 0
Insulin is : |

(1) acarbohydrate (2) anamino acid

(3) alipid (4) aprotein

Fyfer ¢

(1) & aelEEse (2) & wA ofire

(3) = fafte (4) & N

Dunston’s test is used for the identification of :

(1) glycerol (2) acetone (3) glycol (4) ethanol
THET BT ey fEaT grETT w9 B R g S & ?

(1) Fewda ) N (3) TR (4) gHTE
Which of the strongest acid in the following ?

tr=ifofan & vast e ol s 2 7

(1) HCio, (2) H,SO, (3) HClO, () 1550,

The hardness of water is estimated by :

(1) EDTA method

(2) Todometric method

(3) lodimetric method

(4) Gel Permeation Chromatographic method
T B PO Fi b U FiEy R

(1) EDTA @ &R

(2) sAeies &l grr

(3) smahfs R g

(4) W@ R HECTE REY gy

(19)
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94.

95.

97.

9.

Hydrogen gas is not liberated when the following metal is added to dil HCl :
aq HCL ¥ frifafaa # @ fort arg @ Pias | siggod 79 9o 78 86 2 7

(1) Zn 2} Sn (3) Ag {(4) Mg
Important ore of zinc is :
(1) calamine (2} cryolite (3) cassiterite (4) malachite

% BT HEW T ARG ¢
(1) derFEga (2) @IAAEE (3) FdeRIET (4) FaTerge

Most reactive towards electrophilic nitration is :

(1) benzoicacid (2) nitrobenzene (3) toluene (4) benzene
gadeIhfod MgeeH fewa ok scafas fharden € 7

(1) 4@ ot (2) g (3) Tlef (4) Sl
Acetone is mixed with bleaching powder to give :

(1} chloroform (2) acetaldehyde

{3) ethanol | (4) phosgene

=R Ok @ WY Wiem & Bam @ &qr €

(1} FARDEA @) vdefseEs

(3) g2-id (4) B

Which of the following is used widely in the manufacturing of lead storage
battery ?

(1) antimony (2) lithium (3) arsenic (4) bismuith
2= @i d2d) & P 3§ Peateal | & frae = &Y Q T @A 6 7
(1) G (2) ohPer (3) SR (4) s

1% solution of KCl 18 dissociated to the extent of 80%. Whai would be the
osmotic pressure at 27°C (R = (0.0821 L. am K™ moi™; mol. wt. of KCl = 754

g/maie)
KC]511%W80%35'@W3?5‘3"W?'27"{:‘1?11?????3{ Giq @M BN
(R = 0.0821 L atm K™ mol™!; KCl &1 &R = 754 gf'moie}?

(1) 821 atm (2) 82.1atm (3) 595atm (4) 595 atm
(20)
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100. Haif-life of a reactions is found to be inversely proportional to the cube of initia!
concentration. The order of the reaction is :

@ dffE A anlerg, wRAE wieawr @ ow @ ' Gl
il _Egamjumq:znwé_

(1) 4 (2) 3 (3) 2 4) 5

SECTION - Iif
qvg - Il
(PHYSICS)
(Hifte fsm)

101. Two balls are dropped vertically downwards from rest from the same point
affer an interval of 1 sec. If acceleration due to gravity is 10 m/ sec”, then what
will be their separation after 4 sec from the reiease of the first bail ?

(1) 30m (2 Bm (3) 25m (4) 40 m
a‘rﬁa’?aﬁw%ﬁ&:gﬁlﬁo%ﬁhﬁﬁﬁ?ﬁﬁ@ﬂﬁﬁﬁ'amw%ruﬁ
mm?:rloﬁ/#ﬂﬁ‘rl;'ﬁ?rﬂ?:d%ﬁ?ﬁ?r$4ﬁmwﬂ#ﬁa’f#

(1) 30 (2) 35# 3) 25 (4) 40

182. A person moves 30 m towards North then 20 m East and thenag3 m South-
West. The displacement of the person from the starting point shall be -
(1) 20 m South-West (2) 15 m East *
(3) -30 m North-East (4) 10 m West
U% wftT 30 % IR W 20 A gf aiv Rw 3042 A efhyor -
i o kS V2 A SRR g 3| e
(1) 204 Eror-gf¥em (2) 1594

(3) 304 weR-gd (4) 104 uf¥gm

103. A small solid sphere wherr dropped in 2 viscous liquid finally me '
uniform (constant) velocity, which is known as - ves with a

(1) Escap‘e.veloci!)f | (2) Critical Velncit}'
(3) Terminal velocity (4) Reynold velothy
wmmmmwﬂﬁﬁﬁmmamm:qg
TR % Rveler T & AR g & T T (R
(1) Serma= 3 (2) wif=ae a
(3) dArT 3 (4) ew ¥

(21)
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104, Two simple harmonic motions in mutually perpendicular directions are super
imposed. If both of these motions have the same amplitude phase and
frequency. The resultant motion will be :

(1) A straight line inclined at 45° 1o both directions
(2) A straight line inclined at —45° to both direclions
(3) A circle

(4) Ancllipse

»

&) GReR wrREq ave gy R TE-qEt W seNifta @ ol #¢ 3 o @
i Fer T srgfendt T 8 @ g qRomAl TRy &

(1) 347 Rl ¥ 45° W 79 X 3@
(2) T el & —45° W T IS Y
(3) (& goig

(4) vaE g

105. Different colours are exhibited by white light reflected from thin £lm of
kerosene oil fioating on surface of water because of :

(1) diffraction (2) dispersion (3) interference  (4) polarization
A 3 @ T B UTE W A vered feedt g el w0e paw W BT
(1) cfRgme (2) Taac (3) afdmm (4) YdF=ET

106. The plane faces of two identical plane convex lenses each having focal lengths
of 40 cms are placed against each other to form a usual convex lens. The

distance from this lens at which an object must be placed to obtain a real
inverted image of the same size (magnificaton unity) :

(1) 80cm (2) 40cm (3) 20cem {4) 60 cm

0 3 B 0 A L (- A Sel R # wHge wad 3 wer vl B
g ¥ oA &1 T o @ RO g o fad @ v o s g

?E:i q?ﬁaﬁh qreE TRl A SR (e ) B 9
BUM (2) 40{}1?!‘ 3) 20 iy (4) 60O AR
)
(22)
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In Young's double slit interference experiment the wavelength of light used is
6000A. If the path difference between the waves reaching at a point P on the
screen is 1.5 microns then at point P :

(1) second bright band occurs (2) second dark band occurs

(3) third bright band occurs (4) third dark band occurs _
an & R aftewor wam § 6000A a¥ e @1 gey wdm far T ) wfy @
@ Pfag W uges arf 79 @ mea o 1.5 7m0 & @ g PWR

(1) e o ale e 2) feda adra afd R 8
(3) g0 S afRdt Radh & (4) g o alRal Rad 2

The Brewster's angle for a glass slate (1 = 1.5) immersed in water (j = 1.333} is :
U (u=1333) % G I (4= 1.5) A a1 B B geew wior 2
(1) 56.31° (2) 33.69° {3) 20.6° (4) 48.4°

The electric potential at a point inside a uniformly charged spherical shell of
radius R :

(1) is constant (2) variesasr
, 1

(3) varies as— (4) varies as 2

Y r

where 7 is the distance of the point from the centre of the shel.
R =91 & w9 &9 9 3l oo ety e @ ax & R ue Ry e

(1) Faers & (2) r o uRafia e 2
(3)&@%%7% _‘(4)%#1::1’%3%3@@%

WET » TR W @ B W g @ gl 2

Five resistances are connected as shown in figure below. The effective
resistance between the points A and B is :

ure Wt wt fre RErger e & | fagal A 9T B3 meg mard ofoenr @
20

10 2
(1) 6 2) 150 3 9 g
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111.

112.

113.

114,

115.

The magnetic flux linked with a circuit of resistance 100Q changes by 500
Webers in 10 seconds. The amount of induced charge (in coulombs) that fiows
in this circuit during this time is :

el 100Q afeRe & uRuey i Fa7 SR deiad 10 Fo A 500 39w A gRafFe &
VI & W39 IRny § 369 g A gaifed @9 o 9Ra amw &1 W &R 3§
&R

(1) 05 @5 (3) 50 (4) 0.05

The common base current gain « of a transistor is 0.95. The transistor is
connected in CE configuration. What would be the change ir collector current
when the base current changes by 2mA ?

o e o swafte amar s § aRy @fes o @1 A 0.95 € den iR

P TS Tras g ® wirer T R e SR 9R A 2 mA uRad=s & a
ward e ® fhaar oRads € ?

(1) 1.9 mA (2) 38 mA (3) 19mA (4) 24mA

The half life time for a radivactive substance is 5 hours. How much quantity of
the substance will decay in 20 hours ?

fvell ¥ean wfeba ugred & ardorg 562 81 20 62 ¥ 479 gQ waRS @t wEy gl 7
(1) 93.75% 2) 6.25% (3) 75% 4) 25%

A concave mirror has a radius of curvature of 3 cm. The distance at which an
object must be placed in order to give a virtual image magnified by 5 times, is :

(1) 1.8 em () 25em (3) 1.2em (4) 32 em

U s S0 @ ahar e 3 ¥ 8| avg @1 <00 ¥ e g0 v v W
PIAWF @ F SR 5 [ 4R Ao ? |

(1) 1.8 A (2) 25T (3) 1.29% (4) 329

Which of the following statement about spectral line series of hydrogen atom is

correct?

(1) Lyman series 1s in infrared region

(2) Paschen series is in visible region | N |

(3) Balmer series is paftl v in visible region and partly in ultraviolet region
(4) Balmet geries is in infrared region

(24)
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BIERIGE WY & Foima Wiu A ¥ g el § @ @9 su9 wd
g7

(1) @R« Aol 3ava &3 4 Bt 2

(2) sigast Soft g &5 ¥ B0 2

(3) =R it il e &= o Fifde W & A A @

(4) SR Ao sEvad &3 A 25 2

116. The knee-voltage (cut in voltage), a PN junction diode is :
(1) 0.2 volt for Si and 0.6 voit for Ge diode
{2) 0.6 volt for both Si and Ge diodes
(3) 0.2 volt for both Ge and Si diodes
(4) 0.6 volt for Si and 0.2 volt for Ge diode
féeit PN-6f erte # A-fwe (we 37 fwa) &1 = B 2
(1) o srie @ fag 0.2 diee aor STOfaw Srite @ R 0.6 dree
(2) Rufer v safam QT SRR @ fag 0.6 A
(3) whfaw ©9 Riferem <M1 s @ fag 0.2 Aee

(¢4) fofeam erte @ fory 0.6 A s Tl @ R 029

117. Two point charges Q and -2Q are placed at some distance apart. If the electric

e
Eeld at the location of Q is E then the electric field at the location of -2Q will
e.

ARF IV QM QTP W R R QI wH R Agu v £ 2 &t
-2Q% Wi W fagg &% & ~

(1) 2E @ ~E7 3). -E @ E

118. By mistake a voltmeter is connected in series and an ammeter g connected in

parallel with a resistance in an electrical circuit. What will ha
measuring instruments ? Ppen to these

(1) None of them will be damgged (2) Both will be damage
(3) Only voltmeter will be damaged  (4) Only ammeter w

il bE d y,
(25 \ amaged

2 N g
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118.

120.

121,

122.

Teet 11 fedl fagg wRuw A v@ wade @ 2fes ¥ dreedier qen IR B9 4
TR ST A W # | 9 Syl I @ W @ 7

(1) 37 Uil § & P13 TR TG 8 (2) S TUGRO G B TR
(3) IR ATz wag 2 (4) BT UNHE! BRE B

Which one of the following particles will describe the circle of smallest radius
when these are projected with the same velocity perpendicular to the magnetic

field ?

(1} Li* ion (2) He' ion (3) Proton (4) Electron
NefefEm aof # § P9 B9 GIaH g A8 D1 gu d4801 o9 ) qees
T3 ®) @Eg I A 9 TR a7 9w T e & 2

(1) Li* 3mEs (2) He™ Ium (3) A 4) FoEg™

An electric iron (press) marked 2 kW and 250 Volt. The resistance of the heating
clement of the press is :

(1) 62.50hm (2) 125 ohm (3) 31.25 ohm (4) 5x 10” ohm

v fep e ) W 2 kW aer 250 9 aifhd 2| 39S FWE a BT AR
il

(1) 62.53M (2) 12530R (3) 3125 (4) 5x 1073
The dimensional formula of universal gravitational constant G is :

i e Pedie G # R @ ¢

M MET? @) Mir? (3) ML2T2 (@ M7LT

The moment of inertia of a body about a given axis is 1.2 kg/m”. To produce a
rotational kinetic energy of 1500 joules starting from rest an angular
acceleration « = 25 rad/sec® must be applied on this body abour that axis for a
period of ;

(1) 2sec (2) 10sec (3) 5sec (4) 4 sec
%@ﬁv@ﬁmwmﬁ&m%ﬂﬁﬁ 1.2mﬂfﬁnzg|m]500q\qqﬁ—_{
TR w3 a0 U priY @R e = 25 WA/ B 6 Rve ) 59
e @ e R WHY O@ W g 7

1y 20 (2) 100 (3) 5¥e (4) 4o

(26)
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123. [If the RMS value of the AC voltage across the secondary of the transformer in a
half wave rectifier is 9 volt. The maximum DC voltage across the load without
any filter is about :

(1) 10V 2) 4V (3) 8V @) 6V

el y@wT Resd ¥ graeeR & fffas 3 oRa: gwoEd! art &1 «f w9«
(3RoTHoTHo) A w1 W 9 AT B | FRWR W Re (@owio) g & 7 W
w1 e W B (fhee) uRuy i g @ -

(1) 109 (2) 4% - (3) 8= 4) 63T

N-type Germanium :

(1) Sodium (2) Boron (3) Antimony (4) Aluminium
Y& T (Ce) @ e F & B s weApl ¥ wRew T o B o
N- 3R & sgaes ¥ 98 |

124.  The impurity atoms with which pure Germanium should be doped to make a

(1) wifEs (2) IR (3) wEmH (4) vegAfram
125.  The moderator in a nuclear reactor functions in the following way :

(1} Absorbs neutrons (2) Absorbs thermal energy

(3) Slows down neutrons (4) Accelerates neutrons

e Hee) # Hgd e yen A o wwer |

(1) =gt ST Jaquigo (2) oI TSI BT ey

(3) =FEI A 1Y P T waT (4) g5 B vy @1 g9 ST @

126. An ipdudnr of reactance 1Q and a resistor of 2€2 are connected in series to the
terminals of a 6V (rms) a.c. source. The power dissipated in the circuit is ;
1 Q 9iR™ & el 3v 7o 20 ke @ Rl vRRuE B 6 V (rms) @ wearad
w@aéﬁmﬁm}aw%mﬁwﬁmwﬁﬁﬁrwﬁ:

(1) 8w 2) 12W (3) 143W @) 18W
127. Ina permanent magnet at room temperature ;

(1) Magnetic moment of each molecule is zero

(2) The indivudual molecules have non-zero magnetic moment wh
perfectly aligned ' #nt which are alf
{3) Domains are partially aligned

(4) Domains are perfectly aligned

(27)
~ 1.0,
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128.

TR @ o9 W werh gEe §

(1) vels 3 w7 grogd el 3 &l &)

(2) S AT SURY @ YRR g g ek € o i wRfew B #
(3) €= aTT wWfae &g

(4) W4 o WifEa e #)

Change in temperature of the medium changes :
(1) Frequency of sound waves

(2) Amplitude of sound waves

(3) Wavelength of sound waves

(4) Loudness of sound waves

ARTH @ g gRads #

(1) eaf? gv @ smafe aRafda & w1 81
(2) ety qem &1 AT ST AN 2

(3) @Y e e avTae 9g¢ W 2
(4) af il & yEerT ga Wl 2 |

129. The displacement of a patticle is given by x={t-2)* where x is in metres and ¢

130.

in seconds. The distance covered by the particle in first 4 seconds is :

(1) 4m (2) 8m (3) 12Zm (4) 16m

AR T T TRy = (- 2)° Frefa [ar omm 8, @Rl x Wex A vy ¢ wws A
AT T & | U 4 Edhe H D ERT AU G Y A B

(1) 4m (2) 8m (3) 12m () 16m

An electron is moving with an initial velocity v=v,i and is in a magnetic field
B = Byj . Then it's de Broglie wavelength.

(1) Remains constant
(2) Increases with time

(3) Decreases with time
(4) Increases and decreases periodically

Fré zoaggr Rraer aRE® 4T v=v, & & gwPT &3 B=Byj A v B
5o gATEA @ 2andh e 2

(1) ¥R Ve 8

() FHE B T 9 E

(3) w B A gedl 8

(28)
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Hole is :
(1) an anti-particle of electron.

(2) avacancy created when an electron leaves a covalent bond.
(3) absence of free electrons.

{4) an artificially created particle.

B BT 8 ¢

(1) seiagr @ yftremor

(2) wEwdoh aa & g godE @ Bew 9t W sw= R
(3) T eI @ Ry

(4 7B w1 @ YR a1 aw

In a Young's double slit experiment, the source is white light. One of the holes
is covered by a red filter and another by a blue filter, In this case :

(1) there shall be alternate interference patterns of red and blue.

(2) there shall be an interference pattern for red distinct from that for blue.

(3) there shall be no interference fringes.

(4) there shall be an interference pattern for red mixing with one for blue.

7 B FRA w@e ¥ ol wWa gew a1 3 ge w9 wre e & s R
£ AR R B Ao Rheer A1 g9 g

(1) @& w et ¥ & W@k afieRor det g

(2) o9 a0 A T B gUS-guE GWE afewwr oA B

(3) oig N afermeor firms 381 2nf |

(4) T T W 79 0w @A ded e Ao 7 § e Yo § R & |

When a horse pulls a cart, the latter moves because of :

(1) The frictional force due to the road acting on the cart

(2) The frictional force due to the road acting on the horse

(3) The pull of the horse on the cart being gréater than the force of reaction on
the cart

(4) The pull of the horse being greater than the force of reaction on the horse
W ST ML B Wheer B, A ML e wweer F G O @

(1) 8% & g9 96 @ M K fbay oy @

Q eI o RBPwr s

(3) =Y gra e P TS R AT At SRR 97 ¥ 3w B & weor
\29) PTO.
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134.

135.

136.

137.

If the time peried of a simpie pendulum is T its kinetic energy is also periodic
with a lime period :

U TERY] ATE @1 Ha) S T 8 @ IuR afew Fe f amadt o aen
JHGT JEd FTH B

. ¢ '
(1) 2T 2 T (3) 5 (4) 3

For light diverging from a point source :

{}) The wavefront is spherical

{2) The intensity increases in proportion to the distance squared
(3) The wavefront is parabolic

(4} The intensity at the wavefront does nol depend on the distance
v Ry B 3 seRa B yerw % fag

(1) sz oiew &) |

(2) Tam g& & ad & squia § HTd 2|

(3) a¥mm waats (RmEifas) 21

(4) TXMT W e g9 o PR 8 @

Two cells of emf's approximately 5V and 10V are to be accurately compared
using a potentiometer of length 40{cm.

(1) the battery that runs the potentiometer should have voltage of 8V.

(2) The battery of potentiometer can have a voltage of 15V and R adjusted so
that the potential drop across the wire slighlly exceeds 10V.

(3) The tirst portion of 50 ¢m of wire itself should have a potential drop of 10V.
(4) Potentiometer is usually used for comparing resistances and nol voltages.

5V a1 10V wf™ime o 4o a@ @ 21 Wal @ gorn aRygE §9 F 400 Fhe Ty
@ [@9gEidl g @) e R
(1) fsamd % S @R giel §28 &t dem 8V E Tifey |

() Pramm® @ dieear 15V & FFA # qw R FI g0 TR SAEIRTG S ¢
B an @ R oe fMeT 10V 9 19T Sbe 8

(&) B o g W SRR A e @ R R v & R @ R )

The dimension of torque is same as that of :
(1) Impulse (2) Momentum  (3) Power (4) Energy
(30)
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vagE o o a@ § @
(1) g At g (2) WaT a8 (3) uifRy & 2 (4) &al & ]

138. 1 mile/hour speed is equal to :

(1) 4.46 m/sec (2) 0.447 m/sec

(3) 1.612m/sec © (4) 3.213m/sec

1de/der At afr v 8.

(1) 44670 /R0 (2) 0.447 &0 /o

(3) 1.612 0 /To (4) 3.213 Mo /Ao
139. In an inelastic collision of two objects the following is not conserved :

(1) Momentum (2) Total energy

(3) Kinetic energy  (4) Potential energy

Y gl # ey TFE ¥ Pt @ w78 B

(1) & ' | (2) T wort

(3) fdwr & (4) Rufes st

140. The time T required for a planet to complete one revolution about the sun in an
orbit with semi-major axis 2 and semi-minof” axis b satisfies the following
relation :

2 2 - : 5
(1) %= const. (2 %: const. (3) %:—: const.  (4) :_2: const.

TS we o W o7 ow ween O B F T 99 AT & oI de 3wy F -
AR 31 ¢ 7o AR-AER o b ol wen @ dge o @

Tz- ) TZ : ]--2 _ Tz
1) =Rt @) z=fmiz (3 —=Rrw = e

141. For a satellite in & circular.osbit following conditions holds :
(1) Kinetic energy is greater than potential enasgy_ _
{2) Kinetic energy is less than potential energy
(3) Sum of kinetic and potential energies is positive
(4) Sum of kinetic ahebputential energies is negative

(31}
PT.O.
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142,

143.

144,

145.

146.

(% JA@R e § g ael Suue @ fod Prefafed o o & # -
(1) 7o Fut Rufas oot & afe o) @

(2y wier Fat Rufrsr ol @ ow @ 2

(3) Tew vd R @ @1 A e Bl 8

(4) ufdv va Refast sl &1 2 smoes B &

An organ pipe open at both ends has a fundamental frequency 400 Hz. If one
end of the pipe is now closed, the fundamental frequency will become :

(1) 400 Hz (2) 200 Hz (3) 546 Hz (4) 600 Hz

UE it e @ ()t ogerh ¥ iR S 400 T T emgfr 21 arw
@l T W0 s % o fian 9, o) g9 smafa s

(1) 400 Tt (2) 200 get (3) 546 Tt (4) 600 se,

Two masses of 1 gm and 4 gm are moving with equal kinetic energies. The ratio
of magnitudes of their linear momenta is :

1 7% ¥R 4 9% &t 31 A e e o /TR o) @ )| I W«
@ oRAMT BT sy ghl

(1) 4:1 (2) 2:1 (3) 1:2 (4) 1:16

If two adjacent walls and the ceiling of a rectangular room are mirror surfaced,
the number of images of himself as observed by an observer will be :

IR IMFATHR FAR A T T ¥ o derell 3R B9 P WaE W 6T @ B
AT 2 A Y grl A9 ) @ wer <l @

(1) 3 (2) 5 (3) 7 (4) 9

A man whose weight on earth is 500 N, is lifted to a height of two earth's radii
above the surface of earth, His weight will now be :

v aedl FTmT R get uy 500 N 2, S9! IoER U=l @ Age W AT o
Broa @ AV $AE GF @ T & | SUHT AR 3@ N

(1) 500N (2) 166.6N (3) 556N 4) 50N

A car rounds a curve of radius 40 m at 48 km/hr. The centripetal acceleration is :

@5mmsﬂa%ma%ﬁ{ﬁawqq%%ﬁa/ﬁoﬁﬁﬁawéiw

P @RV T
(1) 444 m/sec  (2) 1322 m/sec? (3) 1687 m/se® (4) 243 m/se?

(32)

gcollegeduniaa

—



17U/116/20(Set-1)

147. The S unit of inductance limes capacitance is :

(1) Second’ (2) Vaolt (3) Ohm (4) Herlz
(R&w X TR B WSS IR IS & ¢
(1) Ypve? @ A= (3 (4) s

148. A 15 u F capacitor is charged to 60V. The energy stored in the capacitor is :
& 15 F & §0iRa & 60V oo Al o & | guia 3 toiya ot 8r ¢
(1) 0.027] (2) 0.039] (3) 0.054] (4) 0.092]

149. A2 i F capacitor is charged to 20 V and then connected across a 6 u H inductor.
The maximum value of current is :
(1) 11.5 Amp (2) 20 Amp (3) 15.5 Amp (4) 95 Amp
U# 2 y F 1Ram 37 $aIRa 20V d& 3wl far wiai & iR 6 u H Row € a1
fean s R wvr @1 Sy w @
(1) 11.5 PR (2) 2.0 gfoR (3) 15.5 vy (4) 9.5 ¢RER

150, The earth's radius is 6.37 x 10° m and the earth is 1.5 x 10° km away from the
Sun. The fraction of radiation emiltted by Sun as intercepted by the earth is :

g @ S 6.37 x 10° o Eaﬁ?qdﬁwaijx 10° fflo g v ¥ o w
Seafofer warer &1 97T &) gl W g, 2

(1) 451 10" (2) 1.82x10®  (3) 45x10™"° (&) 621x10"

SECTION -1V
Qe -1V
BIDI..QG\' (Botany and Zoology)
Ha-Re (ewafy wa wfn fam)
151.  Ficus is an example of which kind of inflorescence 7
(1) Spike | (2) Raceme
(3) Cyathium (4) Hypanthodium
wEF [5G UOR B qoHd B TeRR § ?
(1) WS - (2) ¥m
(3) wrafay (4) BTy
(33)
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152. Bicarpellary gynoecium and oblique ovary occurs in :

(1) Mustard {(2) Brinjal (3) Wheat (4) Onion

feaved S 19 Ry soenm o 2

(1) Wi (2) &= 3y WA (4) @ &
133. Photorespiration takes place in :

(1) Mitochondria (2) Glyoxysomes

(3) Peroxisomes (4) Golgi bodies

ypTer v fohed gver 8 7

(1) wrgeraifAga (2) TogaiteRIaTRT

(3) TRATFNRT (4) Tt i

154. The first CO; acceptor in C; plantsis:
Ca Tl # CO, 1 yerw Wit & -

(1) P.EP. (2) Ru.B.P. (3) P.G. A. (4) O.A.A.
155. The hormone present in the liquid endosperm of coconut is :

(1) Ethylene (2) Gibberellin (3) Auxin (4) Cytokinin

RIS & ova yorary § orn 9 g A @

(1) sgeds (2) TRl (3) siffaa (4) gEITHEFA
156. ‘'Molecular Scissors' used in genetic engineering is : ‘

(1) D.N.A.Polymerase (2) D.N. A. Ligase

(3) Restriction endonuciease (4) Helicaseu

el afvafae & yga 8 et s S (FrARER A) B

(1) €o THo Te TARS (2) So THo Yo AT

(3) Mg FergRTT (4) Tehas
157. 1nIndia, tropical rain forests are found in :

(1) Darjeeling (2) Andaman

(3) Rajasthan (4) Jammu and Kashmir

(1) Fifwfer # (2) IvsHE §

) < (4) 5™ vd ¥R |

(34)
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158. The major source of methane in India is :

158.

180.

161.

162.

(1) Rice Fields
(3) Sugarcane -
RE ¥ AN @& qE 6 §

(1) o4 & Va
(3) T

Opium is obtained from :
(1) dried leaves |

(3) latex from unripe fruits
(1) ¥ oftrt &

(3) 1 9% Selt @ R |

Sunhemp is obtained from :
(1) Crotolaria juncea

(3) Musa textilis

T W A o R

(1) DiciaRar ww~fr &

(3) 7T Sawershi @

Amino acids are :

(1) Negatively charged
(3) Zwitter ions

I o wR B

(1) HoHE Al

(3) wiex a4

In ferns, the xylem s :
(1) Exarch (2) Mesarch
w ¥ 2T BT 8

(1) v @) Pt

. (3) Endarch

(2) Wheat Fields
(4) Fruit Orchards

() | P &
(4) welt & Ty

(2) roots
(4) latex from ripe fruits

(2) w9
(4) UD Tl B AR |

(2) Cannabis saltiva

(4) Cocos nucifera

—

(2) PTRw Temar &
(4) rreriayg

(2} Positively charged
(4) Catons

(2) SFTHE STATTY
(4) By

4) Polyarch

(4) idhanes

PTO.
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163. [Lycopodinm is commonly known as :

(1) Horse fail {2} Club moss (3) Quill wort (4) Stone wort

AHIHITT [HFIA] HIFT AT &

(1) R s (2) ‘g A (3) frae o (4) H =
164. Pollination in cycas takes place through :

(1} Ant (2) Water (3) Bat (4) Air

H5HE W URITI BT ©

(1) Tl gry ) " g (3) g9MEE gRT (4) B EW

165. During meiosis, crossing over takes place at :

(1) Leptotene stage (2) Zygotene stage

(3) Pachytene stage (4) Diplotene stage .

(1) ST wawen § (2) AR sl §

(3) FREA sraren ¥ (4) Feard= amRer ¥
166. Primary precursor of [ A. A is:

{1) Tryptophan (2) Tyrosine (3) Leucine (4) Methionine

LA A. &1 grif st 8

(1) fewerh (2) R (3) =EH (4) Wi
167. Link between Glycolysis and Kreb's cycle is -

(1) Citric acid | (2) Succinic acid

(3) Acety} Co-A {(4) Fumaric acid

Jm&-’m@mmﬁma@m%:

(1) fufed o (2) wiaf® s

(3) RS B SRl

168. Double ogranded R, N. A.is present in :

(1) Reovirv® (2) Mitochondria

. (4) Chiloroplast
(3) Bacteria

(36)
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BT IR0 o To TTAT WA
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(1) ¥rar qreRs ¥ (2) wEEIeif~gar %
(3) uftaro A (4) FORCIRE ®
Polyembryony is found in :
(1) Citrus (2) Litchi (3) Coconut (4) Tomato
IEHOT G W) @
(1) g (2) ofrdt % (3) TRI & (4) Twrew §
Pneumatophores are found in
(1) Mangroves  (2) Cactus (3) Lichens (4) Bryophytes
(V) #=per # (2) TATEH F (3) TS § (4) FTEBETE A
Coconut milk is used in ;
(1) Dairy industries (2) Cosmetic production
(3) Fermentation (4) Tissue culture
TRAS 1 ¥ (Prere fien) wga g 2
(1) 3= Semi A (2) W<l TEEE SaRe ¥
(3) fFves 3§ | (4) Sa® weeq §
R. Q. of fatty substances is generally :
(1) Lessthanone - (2) One
(3) More than one (4) Ten
awIg g @7 3o W (RQ:)y wmyaan g &
(1) & ¥ o4 2) @
3) & ¥ FRF @) 9
Ramsar convention is related to nservaﬁun of :
1} Ti (2) Birds T
(1) Tiger PO L W) Wetlods g g
TRER TR fed deer & WG 2 -
0y W @) R (3) arduf )
(87)
- PTo.
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174. Perisperm in seeds develops from:

(1) Funicle (2) Nucellus

(3) Hilum (4) Ovary wall

drell # oYM 9 (Perisperm) 77  :

(1) wgfAfea & (2) frawessm @

(3) TRAA | (4) smeryy ARy @
175. Heterospory and ligulate leaves are feature of :

(1) Ferns (2) Lycopodium  (3) Marsilea (4) Selaginelia

faws o 6 fATele TRl o §

(1) & & (2) FgpafeTr® (3) ARferrd  (4) Hotfordenr &
176, Maltose is :

{1) Monosaccharide (2) Disaccharide

(3) Polysaccharide (4) Oligosaccharide

qrEeYq ®

(1) AEIES (2) SZRAINZS

(3) UfNAIIES (4) Sfformaavgs
177. Androstenedione is produced in :

(1) Granulosa ceils (2) Leydig cells

(3) Sertoli cells (4) Sperms

TRrRAgRaiR I B 8

(1) e P | (2) = @R ¥

(3) wwere BfTs (4) ¥ R

178. Starfish belongs to phylum:
(1) Porifera

(3) Protoz0?

. (2) Coelenterata
) Echinodermata

meﬂmmﬁ?

3 (2) Reee
" | (1) FEFRTe
(3) e 8}
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179. Nerve net system is found in :

(1) Planarians (2) Insects (3) Hydra (4) Earthworms

74 e e arar o g | |

(1) eRfgd  (2) P X (3) TTER A (4) Fgen ¥
180. Antibodies are produced by :

(1) Blymphocytes (2) Macrophages

(3) Tlymphocytes (4) Erythrocytes

teraTel gafed B € - .

(1) BfeesEEew gm . (2) ¥weoe gm

(3) T ferpragey grT _ (4) wRereTETy BT

181. Mt?st abundant white blood cells in human blood is :
(1) Basophils (2) Eosinophils  (3) Neutrophils  (4) Monocytes
AT IR H WA SIET YR W ¥ R e e
(1) ey (2) R (3) R (@) Ararges

182. Catecholamines are generally secreted from :

(1) Zona reticularis (2) Zona fasciculata
(3) Zona glomerulgsa (4) Adrenal medulila
PEHAWEN FHFATDT T B ¥ |
(1) v WgaRag | ' (2) WY e @
(3) W T 9 (4) TR e &
183. Ultra-filtration of blood takes place in :
(1) PCT of renal tubules (2) DCT of renal tubuiieg
(3) Bowman's capsule ' (4) Loop of Henle
a1 Sepl-heper afed &dr & - = |
(1) 379 e & PCTH - ) 9 quem @ Doy
(3) I B P ¥ (4) Wﬁi’l{ﬁ
(38)
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184. Urea is secreted into the medullary interstitium from :

(1) Descending loop of Henle (2) Ascending loop of Henle

(3) PCT {(4) Collecting duct

Rz Agerdt sexwdfimm F wnfd & @

(1) & D o o R (2) & & IR @ @

(3 PCTR (4) FAfFET T W
185. Inactive pancreatic trypsin is activated by :

(1) HCl (2) Na"and K*

(3) Enterokinase. (4) Lipase

Rpa s R w8 8

(1) HCIgm (@) Na*®m K* ER

(3) g BRI (4) EUF BRI

186. Stroke volume of normal human heart is :
AT WA g2 ITET B A

(1) 70 ml (2) 140 ml {3) 500 ml (4) 2500 ml
187. Deoxygenated blood is carried from human heart to lung through :

(1) Pulmonary vein (2) Pulmonary artery

(3) Vena cava : | (4) Aorta

e 3R X WG Bed § Bhel A o VIR S 8

(1) g BT gRT (2) TR A EI

(3) @ del ERI (4) wshet gm

188. Tricuspid valve guards the blood flow between :
(1) Rt Atria and Rt. Ventricie
(2) Lt Atria and Lt Ventricle

) Rt. ventricle to pulmonary artery

Lt \;entricle to aort>?

(3
(4)
(40)
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SRPTS e T HaTE AT v deay @

(1) = sl va it deer @ drg

(2) a1 snfan v arlt Mpaa @ 4

@) R Met A T IR B d

() T8 Bow A et dw
189. Cardiac output is increased by :

(1) Sympathetic neurons of ANS

{2) Parasympathetic néurons of SAN

(3) Cortisol

(4) PON

PIEAD JSCYe agar 2 -

(1) ANS3 Riteifes R gRT

(2) SAN @ WRRIRS ~R~ 2Ry

(3) ®if¢Hta grr

(4) PON w1
180. Inspiratory reserve volume of normal human lungs is :

W A Pl BT SRR Relg dfem & -

(1} 500 ml (2) 2500-3000ml - (3) 1000-1100 m] (4) 3000-3500 m|
191, Binding of oxygen to hemoglobin is knolwn as:

(1) Oxidation (2) Reduction

(3) Oxygenation - (4) Oxido-reduction

Arieifas & e sifawior & @ ) oy 2 -

(1) TfEvo . (2) I

(3) dAferdraf=g ) Ms‘r.ﬁawa-

- . {41)

~°TO.
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192. Which of the following favours the dissociation of oxygen from the
oxyhemoglobin at the tissue level ?

(1) High pCO, (2) Low pO,

(3) High H* concenrratioz; (4) Allof the above

Wﬁwwmﬁmﬁ_quwmﬁﬂm

el Pl & 7

(1) we pCO, (2) ™= pO;

(3) S H* wgdl © (4) SR w4
193. Tn human, autoexcitable action potential i3 generated first in:

(1) AVN (2) SAN

(‘3) Bundle of HIS (4) Purkinje fibres

e &, Py fi awed TEd 9 g

(1) AVN# (2) SAN #

(3) HIS @ ded ¥ 3 (4) R wET A
194, Bile salts arc made in :

(1) Pancreas (2) Liver | (3) Duodenum (4) Stomach

JI5a @A & ¢ "

() s X (2) 9gE (3) T # (4) R A
495. An important feature of human evolution is : |

(1) Increase in heart size (2) Increase in limb size

(3) Increase in brain size (4) Loss of tail

— weeaqel faRyen @

‘ @) fora @ JBR A §i&
(1) gea & AR A T
D i (4) Gp A &l
(@) AR D wr A giE
- (42)

[ ]
gcollegedumas
India’s largest Student Review Platform

—



17U/116/20(Set-1)

196. Which of the following is scientific name of Pheretima posthuma ?

(1) Leech (2) Neris (3) Earthworm  (4) Tapeworm

POAfEHT TRGAT (Pheretima posthuma) fr= # & firgar denfe T & ?

(1) i () R\ . @) Py (4) wrarpth
197. Which one of the following is not an absorbent organ in humans ?

(1) Nictating membrane (2) Ear Shell muscles

(3) Flat front teeth {incisors) (4) Vermiforms appendix

=7 & 9/ @ Ty F s sir aef @ ?

(1) Freefer gt (2) Futw wiEafdrat

(3) W T wge < (4) e Rew

198. Biopsy is related with :
(1) Post mortem done to know the cause of death
(2) Examining in unconscious state
(3) Separating tissues from the body for examination
(4) Treating hydrophobia -
aar (Biopsy) weftad & ¢
(1) T & RY WA & forg v frbgs &t @
(2) N 1 Refy F ey =7 | s
(3) vewr & for Sat Y TR A T T /-
(4) SIERIBIAYT FT ITER FHXA |

199. After birth in humans in which tissue there is no cell division ?

(1) Skeleton - (2) Nerve (3) Connective  (4) Genital
W B AT A9 @ R Sw A D ot Ao 727 2 4 o
(1) ®@m@ (2) @i . - (3) HawA (4) T
(43) P.T.0
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200. Match List-T with List-I1 and choose the correct answer from the code given

below :

Code :

A
(1) ii
(2) i
(3} iii
(4) 1

-1 BT @

(1) i
(2) i
(3) iii
(@) iii

0O =P

- 0

i
A
v
1i

v
v

i

List-1 (Discoverer)

Gener i
Watson i
Landsteiner 1
Fleming iv
1 D
o« v
1 1

i 1
v i

-1 (Errea)

A. TR 1
B. I i1
“ad e 11i
D Tor AT v

C D

ii v

1 i

i ii

iv i

(44)

List-11 (Discovery)

Blood Group
Penicillin
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